litude, HV=1000V Noise, HV=1000V
A 233167
Entries 3002 -9.375¢-13
10000 0.0002073
_..|Mean 0001577 469/ 84
RMS  0.0005648 0
8000 9795+ 24.3
,,,,,,,,,, 8.479¢-08+ 6.030e-07
0.0002965+ 0.0000004
6000
ool oo 4000 —- -
00— -2 2000
g= 0
0. -0 003
amplitude [V] V]
ampitudes
S04 e . 2
F — HV = 1000V ' 8
0.0012 - £
F 5
0.00Lf—---------
0.0008 |-
0.0006 |~
00004 &
0.0002 |-
0
A T SR E I R |
20 20 60 80 100
time [ng] time([s]
baseline baselinerms
3
.0015 0.9 X10
j i i i i i i > E
SR ; ; ; ; ; ; 2
£ . E o8
3 F g
£ 0.00L|—--- § 07
C I I I ! ! ! ! 0s
0.0005 |- - - - - Ll 05
o 04
O Pt i o St st e 03
02
-0.0005 01
200 °

time[s]

SP 070110165003 side C _installed_F408andrej-withSr90-thresl-12mv.xis



